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TABLE 6.—Refraction

To be subtracted from sextant altitude

TABLE 7.—Coriolis (Z) Correction
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Choose the column appropriate to height, in units of 1,000 feet, and find the range of altitude in which the sextant
altitude lies ; thus find Ry.  This is the refraction corresponding to the sextant altitude unless conditions are extreme.
In that case find f from the iower table corresponding to the range of temperature for the appropriate height, and
use the table on the right to find R. Example: at a height of 30,000 feet and temperature (—) 60° C a celestial body
_m. ovmmw_évma om% altitude (—) 2°36’. Ry is 50/, f is 1.1 and R is 55’. Subtracting this from the sextant altitude
gives (—) 3 ‘.



